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December — Examination 2021 wfefo T T T 4 S R
Bvo /Bo SC. (Pal't I) Examination 1. (1) Equation (x — y)Z + (X — a)2 =0 represents
MATHEMATICS which curve ?
Co-ordinate Geometry and Mathematical THH (x — ¥)2 + (x — a)? = 0 TF9 T =l
Programming foqr ey @ 2

Paper : MT-03

(ii)) Define plane section of a sphere.

Time : 1% Hours | [ Maximum Marks : 80 A & A IR=se ol qiiafoa sifsa)
Note — The question paper is divided into two Sections (iif) Define Right Circular Cone.
A and B. Write answers as per the given TG 31 Rl ARHISA Hifra |
instructions. (iv) What do you mean by center of the
T - = gvA-T ‘e’ R ‘9 Q) wuel § fawifea §1 v conicoid ?
Tre & FRITER yeH & Sw s SMhaST & s W SIS F1 Haed § 7
Section—A 4x4=16 (v) Define objective function.

Y Bor I IR i

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one (vi) What is difference between slack and surplus
sentence or maximum up to 30 words. Each variables ?
question carries 4 marks. AARE F ATIRRE = W A AR T 2
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(vii) Let m and n denotes the numbers of equations e=r %WqT K =1 T TﬁW o1 fog @ TeRar ®
w faden® w1 A, B T C W Hea ¢ @ a5
st f& &Iys ABC & &% &1 foguy
9(x2 + y2 + 2%) = 4K2 ¥rm |

3. If two spheres of radius r; and r, cuts

and decision-variables respectively, then what
happens when m = »n in a Linear
Programming Problem ?

A ﬁ*— m SR n FEA: FHEW SR o =/ orthogonally, then prove that the radius of common
FH T H AT T, A TN DA T T m = 7 circle is :
Yo ganfa gwen § 2 -
(viii) If the given LPP has an optimal solution, ’12 +,,22
then what do you say about the solution of o 1, i T S B A N efiEE w9 Y Y8
dual problem ?
17
afg &4 Tq LPP 1 Uk ¥52a9 & ¥, A 319 a‘rmﬁm%waﬁﬁﬁwm
5 THEn & WHEME ® 9R H N %Ed § 7 ot b
|
Section-B 4x16=64 ‘ '
Note -— Answer any four questions. Each answer should not 4. Determine the surface presented by the equation :
exceed 200 words. Each question carries 16 marks. 4% + 9y? + 362% — 36yz + 24zx — 12xy
(@ug—9) —10x + 15y -30z+ 6 =0
fdor .- Tl R wel & S ST e9 et SRR Wi THEHWT 402 + 992 + 3622 — 36yz + 24zx — 12xy
stfershay 200 v=al B uREifad wifsg) g8 9eE — 10x + 15y — 30z + 6 = 0 BRI YSRT@ TS A@ FHIToC |
16 STt 1 %1 5. Prove that any rwo members of a system of
2. A sphere of constant radius K passing through generators of a hyperparaboloid does not intersect
origin and cuts axes at A, B and C. Then prove each other.
that the locus of centroid of triangle ABC 1is forg Ff 5 SfEer & S % UF & e
Ax? + 12 + 22) = 4K2. - ’ )
% I S TG WER Yiaese e i B
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6. Prove that every hyperplane is convex.

fag =ifNT fo v sifrmaaa © sEqE wq=
el T

. Solve the following linear programming problem

by Simplex method :

Max.
7 = 5%, + 3x,
s.t. :
2, - x, < 15
X — 3%y <5
and xp, % 20
= Yo dumm e w foroem fafa 9 s«
RIS
Afehran
Z = -5x, + 3x,
EIcECEE
2, - x, < 15
x — 3%y <5
e xp, % > 0

200 Turn Over

. Find out dual of the following linear programming

problem :
Max.
Zp = 3x; + 4x,
S.t. :
2x; + 3x, < 16
Sxp + 2xy > 20
and X, % 20

Tt Yerer IRmeA SHE & W B SEE 9 SIS

sAfereRad
Zp = 3x; + 4x,
gfqay
2% + 3x, < 16
Sx; + 2x, 2 20
aaq X, X 20
MT-03 / 7 (6)
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9. Solve the following assignment problem :

Work

N = »

D

fr=1 o T9=n & & ST

O 60w »
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Person

I I
9 26 15
13 27 6
35 20 15
18 30 20

AfeRa

I I I
9 26 15
13 27 6
35 20 15
18 30 20

(7)
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